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Normalized Yields
2.2 GeV, 2.5T, Transverse
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Method

Y;?f — }/14]\7 + }/4}]6 + }/2714[ + YH3
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Method

Assume this contribution
is small, for now.

}/ng — }/14]\7 + Ylee ‘|‘}/27Al + YHS

l

YEDf — lth_pr + lthHe<1 _ pf) + Ylgqét T YAZ

l

out
Yo = Ztgpf(ON —oe) + ligome + Yo + Yo
N~ -
Can be obtained Can get relative cross section [ dummy
from Vince’s data from empty cell run:

Yvempty — YZ]—[G — (ltg —+ lout)aHe
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Quick Test

Ybf — ltgpf(UN — UH@) T }/dummy

YImc = 1013960 B

Y = 414573 GHe = Yempty/(étg-l_éc)ut) = 9822.8
dummy —

Y =412556 > 0¢ = (Yearbon = Yempty)/ (écarbon) = 117700.8
empty

Y = 532140 Oy = (Ypf/Ycarbon)*csC =224271.6
carbon ~

b = 28.2mm 1

oy = 13.8 mm

l..oon = 1.016 mm pf=0.10




To Do

* Need to use a better value for o

* Need to include contribution from H,
e Either from fit of data or simulation

}/;gf — }/14]\7 + MHG +}/27Al + YH3

* Any suggestions?



